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multiply:    a fraction by a whole number    fraction by fraction    mixed numberssolve problems involving the multiplication of:    a fraction by a whole number    fraction by fraction    mixed numbersMATHEMATICS
Module 7
Standard 5
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When I have completed this unit,I will be able to: 
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INTRODUCTION 
The Mathematics E Book Modules is a compilation of content based on the topic Fractions across the levels of Innt One to Form Five. The content develops sequentially to lay the undational prerequisites r Fractions at the early levels, and then progresses to rmal actional concepts and their applications through the use of the area, linear and set models at the higher levels. Sudents' engagement with the E Book Modules will encourage the development of mathematical knowledge and numeracy skills such as communication, problem solving, critical thiking, representation and reasoning, through sel-directed leaing. The development of Number Sense is a cental ature of the modules, which is critical r solving realli problems. The materials are presented through the use of graphics, audio and digital elements such as animations, to capure stdents' interest and ster a love r leaing Mathematics. The provision of immediate edback aer completion of activities and exercises enhances students' metacognition which in t suports their understanding of mathematical content. Teachers can use this body of work as a model, as it reﬂects the Concrete Pictorial Abstract (C) approach which is ndaental to the teaching and leaing of Mathematics. The Ministr of Education of rinidad and Tobago wishes to express its sincere appreciation to all those who contibuted to the design, development and implementation of the Mathematics E Book Modules: CAF Development Bank ICEF MOE ICT Division, Education Technology Unit, Procurement Unit, Curriculum Planning and Development Division. 
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User 
Instructions 
This section will provide you with a quick overview of how to use and complete the interactive activities in this eBook General  
●When responding to questions, insert your answers by typing in the input box. Please do not type your answer with anyadditional spaces at the start or end or end of the answer or it will automatically be marked incorrect.Navi
gati
o
n & 
Buttons  
To 
play 
audio click 
the 
audio 
icon 
To 
move 
forward, 
click 
the 
arrow at the 
far 
right
To 
skip track 
click the forward 
icon 
To 
move 
backward, 
click the 
arrow at 
the 
far 
left  
To 
skip track 
click the forward 
icon 
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2MULTIPLICATIONSection 2 - Multiplication and Division of Fr
actions
You can review these multiplication skills. Click on each of the links below.   1) Multiply fractions by whole numbers   2) Calculate fractions of a collection or set  3) Calculate the whole given a partmultiply fractions by whole numbers calculate fractions of a collection or setcalculate the whole given a partW
ha
t I Kn
o
w
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Multiplying a Fraction by a Whole NumberYou learnt how to multiply fractions by whole numbers in Module 6 Section 2. Here is another example to remind you about some important points. 37 is written as a fraction by using 1 as the denominator.    can be reduced to     by dividing both the 4 and the 6 by the factor 2.Multiply the numerators. Multiply the denominators. The answer is an improper fraction. Change it to a mixed number. 46237 x    =     x   467146   x    =     x     =   46712371143143   = 4   237 x    = 4   4623
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Solve the following problems.   1) 1          2)        5    3)  6         4) 4        5)        8      6)        15   7) 2       8) 11      9)        14   10) 8     191358310101225912346719==========xxxxxxxxxxHin
t
1. Remember to reduce your answers to the lowest terms if they can be reduced. 2. Change improper fractions to mixed numbers. 
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1)  The Commutative Property of Multiplication: The order in which we multiply     numbers does not change the product.2)  Whole numbers are represented as a fraction by using 1 as the denominator.In
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Vicky solved  2 x     =This is Vicky’s working:     x     =     x     = Her answer is incorrect. What did Vicky do incorrectly? 216767113737Jo
u
r
n
a
l
In your journal, write the question in the last Investigative Task. Explain Vicky’s error and then show the correct steps to find the solution. 
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6Multiplying a Fraction by a FractionUsing a ModelMs. Walter has     of a macaroni pie.  She serves     of the pie for lunch.  How much macaroni pie did Mrs. Walter serve for lunch?What is the problem asking us to do?The problem is asking us to find    of   We must calculate     x    .341212341234How is     x     represented using a model?The model shown represents    of the pie.K
e
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123434
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7To represent     of   , divide     of the shape in halves. Draw a vertical line to cut the model in half, then shade half of the shape that is coloured which is         ofThis                             becomesThere are now 8 parts. Three of the parts are both coloured and shaded. That fraction is   .Note, that only the coloured boxes are shaded.   x     =   . Mrs. Walter served     of the macaroni pie for lunch. 12343412343812343838
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Find the products of these fractions using the models. 1)       x     =2)    x     =3)      x     =                    83514P
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24121313
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94)       x     =5)    x     =               13562523
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Larry solved      x     using a model.  He said that his answer is      . Below is his model.Did Larry solve the problem correctly?  Give an explanation.5812516Jo
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Write one of the examples of multiplying a fraction by a fraction that you already did. Write the steps that you followed to solve the problem.
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11Multiplying Fractions Without Models     x     = Multiply the numerators: 1 x 3 = 3Multiply the denominators: 2 x 4 = 8    x     = There are no fractions to be reduced in this example.  If the fractions can be reduced, reduce before multiplying them.1234123438K
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When you are multiplying a fraction by a fraction, you are finding a part of one of the fractions. 
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Solve these problems. 1)  A group of students play in the school’s music band.  One quarter of them play a wind instrument.     Two thirds of these students play the recorder. What fraction of the group of students play a recorder?2)  Mitzi has a bag of sweets.  Two fifths of the sweets are mint flavoured.  Three quarters of the     mint flavoured sweets are green. What fraction of the bag of sweets are mint flavoured and green?3)  At the Emperor Valley Zoo,     of the animals are furry.  One third of the furry animals are lions.     What fraction of the animals are lions?4)  Mr. Johnson grows vegetables.  Five sevenths of the vegetables grow underground.  Two fifths of     those vegetables are sweet potatoes. What fraction of the vegetables are sweet potatoes?5)  Sheldon had      of a pizza left in a box.  He ate     of what was left.  What fraction of the     pizza did Sheldon eat?5651215
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13Multiplying Mixed NumbersProblem: Matthew and Trina attend the same school.  Matthew lives 3  km from his school.  Trina lives  1   times as far as Matthew from the school.  How far does Trina live from the school?We have to solve  1   x 3  . First, we need to change each mixed number to an improper fraction. 1   x 3    becomes     x   Now that each number is written as a fraction, we can multiply them. Remember the steps that we follow.   x     =    x    =    = 5Trina lives 5  km from the school. 464646322263222611112112121111212K
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When multiplying mixed numbers, first change them to improper fractions.121212
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Solve these problems. 1)  Siam ran 2  km on Saturday.  He ran 2  km times as far on Sunday.  What distance did Siam     run on Sunday?2)  Barry placed 5 bricks end-to-end along the width of a walkway.  Each brick was 15  cm long.     What was the width of the walkway?3)  A recipe for 1 loaf of bread uses 2   cups of flour.  Mr. Cato wants to make 3 loaves of bread.     How many cups of flour will he need?4)  Last week Ferida bought 1  kg of fruit in the market.  This week she bought 2   times last     week’s amount of fruit.  How much fruit did Ferida buy this week?5)  The width of a room is 3   metres wide.  The length of the room is 1   times longer than the     width.  What is the length of the room?1412141515121345
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1)    1    x  3    =2)    1    x  1    =3)    3    x  3    =4)    2    x  2    =5)    4    x  4    =15210P
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18231581213262371012In
v
e
s
t
ig
a
t
i
v
e T
a
sk 
Maurice calculated  7    x 3    = 21Explain why Maurice’s answer is incorrect.3531012
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I Know How To Change a Mixed Number to an Improper Fraction   1)   Write an example of a mixed number.    2)   Change your mixed number to an improper fraction. I Can Multiply Mixed Numbers   1)   Choose one of the problems that you worked correctly.   2)   Write it in your journal.    3)   Show how you solved the problem.
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17DIVISIONObjectives: When I have completed this unit, I will be able to: divide:     a whole number by a fraction     a fraction by a whole number      a fraction by a fraction     Explain why division by a fraction is equivalent to multiplication by its    reciprocal. solve problems involving the division of:      a whole number by a fraction     a fraction by a whole number     a fraction by a fractionW
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       dividing a whole number by a fractionYou can review the skill of dividing a whole number by a fraction.
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18Dividing a Whole Number by a FractionIn Chapter 6 Section 2 we made some observations when dividing whole numbers by fractions. When we solved the number sentence, 3 ÷    using the number line and other models we got the answer 12. Use the same model.Use one of the operations (+, -, x, ÷) to complete the number sentence.   3       4 = 12We discovered that 3 x 4 gave us the same answer as 3 ÷   . We can say that multiplying by 4 gives us the same answer as dividing by   . Here is another example. 5 ÷   =Using the model, we see that the answer is 10. 14141412
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19Using one of the operations (+, -, x, ÷)  to complete the number sentence 5       2 = 10, we will get 5 x 2 = 10.We can see that 5 x 2 also gives us the same answer as 5 ÷   . We can therefore say that multiplying by 2 gives us the same answer as dividing by   .1212In
v
e
s
t
ig
a
t
i
v
e T
a
sk 
Multiply 4 x   .What is your answer?Try these as well.    3 x     =    6 x     = 141316
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In the last Investigative Task, when you multiplied the fractions, each answer was 1. There is a special name for numbers which, when multiplied by each other give an answer of 1. They are called reciprocals. We can say:the reciprocal of 4 is    .   (4 can be written as   )the reciprocal of 3 is    .   (3 can be written as   )the reciprocal of 6 is    .   (6 can be written as   )Let us try this problem. 7 ÷    = We will first draw a model. We draw seven wholes and divide each whole into 6 equal parts.Count all the parts. There are 42 parts. 7 ÷    = 42  x    = 42 2014411331166116166171
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21For division by   , we get the same answer as multiplying by the reciprocal of the fraction which is   .1661K
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dea
Dividing by a number or multiplying by the reciprocal of the number will give the same answer.P
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Solve these by using the reciprocals of the divisors. 1) 2 ÷ =2) 7 ÷     =3) 4 ÷   =4) 9 ÷     =5) 11 ÷     =   1615181213
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Tia solved 12 ÷   . This was Tia’s working:    x     =     = 4Explain why Tia’s working is incorrect. 1312113123If the reciprocal of     is 4, what is the reciprocal of   ?Did you notice a pattern with other reciprocals that will help you solve this?K
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1424
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Solve these problems.    1) A baker has 6 cups of sugar. She has to use     cup for each batch of cookies.  How many       batches will she be able to make?  2) Tyson eats     cup of cereal every morning.  The cereal box has 10 cups.  How many days        will Tyson’s box of cereal last?  3) Eric decorated his front yard for a birthday party.  He used party lights placed    m apart.         The length of string he used was 12m long.  How many light bulbs did Eric use on the string?  4) Navin has 14m of wire.  He cut the wire into smaller lengths of    m.  How many pieces of        wire will Navin get?  5) Mrs. Browne has 25 cups of ice-cream to serve some persons.  Each person has to get    cup        of ice cream.  How many persons will Mrs. Browne be able to serve with the 25 cups of        ice-cream?34252371058Jo
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   1) Write the meaning of ‘reciprocal’ of a number and give an example.    2) Show how you would solve 10 ÷     using the reciprocal. 26
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24Dividing a Fraction by a Whole NumberMother wants to share     of a cake equally among 5 children.  How much cake will each child receive? We want to solve     ÷ 5We can use a bar model.  This shows the 1 whole and the    that has to be shared.Now, we divide the     into 5 equal parts.There are 10 of these equal parts in the whole. Each part is called    .Cha
l
l
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121 whole1212121234512110
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25Next, we want to make 5 equal groups from the   .Each child receives     of the cake.Using the ReciprocalYou can also use the reciprocal to help you solve.     ÷ 5 =     ÷    =The reciprocal of 5 is      x    =   Each child receives     of the cake.12110121251151215110110
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Let us solve another problem. Solve    ÷ 5We will use another bar model.We first draw 1 whole and divide the whole into 4 equal parts.  We shade     of the whole.Next, divide each of the three quarters into 5 equal parts.There are 20 equal parts in the whole. Each part is called  .2634341 whole3414141412034120
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27Next, we want to make 5 equal groups from the   .                                            Now, we see how many of the parts are in 1 of the 5 equal groups. We have 3 equal parts. Each part is called , therefore, 3 parts together is  . Each child receives     of a piece of cake. 120123453434120320320
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28Using the ReciprocalYou can also use the reciprocal to help you solve.     ÷ 5 =     ÷=The reciprocal of 5 is     x    =  Each child receives    .34K
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To divide a fraction by a whole number, we make groups of equal size. 3451151534320320
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291)        ÷  4 =2)  ÷  2 =3)   ÷ 3 =4)   ÷ 2 =5)  ÷ 6 =P
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Leo solved     ÷ 3.  This is the model that he drew.He stated that his answer is   . Leo’s answer was incorrect.  What did he do incorrectly? 142313
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Draw a model for     ÷ 3. Write step-by-step explanations to show how you got your final answer. 25
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31Dividing a Fraction by a FractionSandy bought   kg of cheese.  She cut the cheese into smaller blocks each of mass   kg. How many smaller blocks of cheese will Sandy get?Using a ModelFirst, draw a whole bar and represent    on it. Then, draw another bar the same size and represent    on that bar. We want to see how many of the    cups fit into a    cup.We count the number of    blocks of cheese. There are 4 of them. Sandy will get 4   - blocks of cheese.12181218181212181818184 of the    blocks181818








[image: background image]
32Using the Reciprocal to Divide     ÷    = The reciprocal of     is 8. We can write     x 8Remember 8 can be written in fraction form.  It becomes    .     x    =    = 4 blocks of cheese 1812181281128182K
e
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Dividing a fraction by a fraction means that we want to know how many fractional parts (the fraction we are dividing by) are in the fraction of the whole (the fraction we are dividing).
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Try these problems.    1) Mr. Roberts has    kg of bird seed left.  He wants to divide it into   kg portions for the        bird feeders.  How many portions will Mr. Roberts be able to make?  2) Dana has    litre of pizza sauce.  Her pizza recipe uses     litre of pizza sauce on each pizza.         How many pizzas will Dana be able to make?  3) Mr. Fin has   kg of clay for his class to make clay pots.  He grouped his students.  He has to        give each group of students   kg of clay.  How many groups did Mr. Fin make?  4) Trent has     litre of juice.  He wants to divide it into    litre portions.  How many portions        will Trent be able to get?12134525810161516In
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Ben solved    ÷    =.  This is Ben’s working.    x    =Explain why Ben’s working is incorrect. 1313151151533
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I Can Divide a Fraction by a Fraction.Use one of the problems you solved and show the steps you used to solve it.34
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Students’ understanding of fractions can be increased through activities such as: using measuring tools at home e.g. measuring cup, measuring tape, scale. brainstorming real world situations where fractions are applied e.g. cooking, plumbing,              tiling. 
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SOLUTIONS
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Sol
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  1) 1           2)        5   =      x     =      =   1       3)  6         4) 4        5)        8  =   x    =     x    =      = 6  6)        15  =     x    =     x     =  6  7) 2           8) 11      9)        14 =   x   =  x   = 12        10) 8            19135831010122534x      =     x    =xx      =     x    =     x     =      = 3x      =     x    =     x     =      = 1xxx      =     x    =     x     =      =  1x      =     x    =     = 8xx      =     x     =11(1 is the identity number for multiplication.  Any number multiplied by 1 remains the same after multiplication.)1919135153236158315415434(Divide 6 and 8 by 2.)4121356515310(Divide 4 and 10 by 2.)1012811032120323(Divide 8 and 12 by 4.  You could also divide 10 and 12 by 2, then divide 6 and 8 by 2.)251512131(Divide 5 and 15 by 5.)9122191211969612(Divide 2 and 12 by 2, then divide 6 and 9 by 3.  You could also have started by dividing 9 and 12 by 3.)111343341467671416121(Divide 7 and 14 by 7.)1981198912163213322534P
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Vicky solved  2 x     =This is Vicky’s working:      x     =     x     = Her answer is incorrect. What did Vicky do incorrectly? Answer: Vicky reduced the two numerators 2 and 6 by dividing by 2. This was incorrect. To reduce fractions, you have to reduce a numerator and a denominator using the same factor.  Two numerators or two denominators are not to be reduced using the same factors. Vickyshould have recognized that she could not reduce the numerators.672167113737
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2412Find the products of these fractions using the models. 1)       x     =2)    x     =3)      x     =                    1313191132014
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4)        x     =5)     x     =               13562523518415
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Larry solved      x     using a model.  He said that his answer is      . Below is his model.Did Larry solve the problem correctly?  Give an explanation.Yes, Larry solved the problem correctly. He divided the shape into 8 equal parts then coloured 5 of these parts in blue to represent     of a whole.He then drew a vertical line which divided the shape into halves.  The shape is now divided into 16 equal parts.  He shaded     of the blue portion of the shape.  This represents one half of five eighths which is     of the whole shape.58125165812516
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1)  A group of students play in the school’s music band.  One quarter of them play a wind instrument.     Two thirds of these students play the recorder.  What fraction of the group of students play a recorder?    Answer:     of the students play a recorder2)  Mitzi has a bag of sweets.  Two fifths of the sweets are mint flavoured.  Three quarters of the     mint flavoured sweets are green. What fraction of the bag of sweets are mint flavoured and green?    Answer:     of the sweets are green3)  At the Emperor Valley Zoo,     of the animals are furry.  One third of the furry animals are lions.     What fraction of the animals are lions?    Answer:     of the furry animals are lions1423131216x     =     x     =25343231015162156x     =561351831051812
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4)  Mr. Johnson grows vegetables.  Five sevenths of the vegetables grow underground.  Two fifths of     those vegetables are sweet potatoes.  What fraction of the vegetables are sweet potatoes?    Answer:     of the underground vegetables are sweet potatoes5)  Sheldon had      of a pizza left in a box.  He ate     of what was left.  What fraction of the     pizza did Sheldon eat?    Answer:     of the pizzax     =     x    =57252117272711512x     =     x    =51215111121121111215
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1)  Siam ran 2  km on Saturday.  He ran 2  km times as far on Sunday.  What distance did Siam     run on Sunday?    Answer: 5  km2)  Barry placed 5 bricks end-to-end along the width of a walkway.  Each brick was 15  cm long.     What was the width of the walkway?   Answer: 76cm 3)  A recipe for 1 loaf of bread uses 2   cups of flour.  Mr. Cato wants to make 3 loaves of bread.     How many cups of flour will he need?    Answer:     cups of flour14121415x       =     x     =     =121494524582258558x        =     x     =     x      =15511176551576761x       =     x     =      =1431326274943463411
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4)  Last week Ferida bought 1  kg of fruit in the market.  This week she bought 2   times last     week’s amount of fruit.  How much fruit did Ferida buy this week?    Answer: 3kg of fruit5)  The width of a room is 3   metres wide.  The length of the room is 1   times longer than the     width.  What is the length of the room?    Answer: 6 metres long15121345x      =     x     =    x    =151252652131131x      =     x     =    x    =1345951031363121P
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1)   1    x 3     =      x      =     x     =     = 5    2)  1   x  1     =      x      =     x     =    = 1   3)  3   x  3    =      x      =     x     =     = 12   4)  2   x  2    =      x      =     x     =     = 6  5)   4   x  4    =      x      =     x     =     = 1952231826982311438181221020123210163131332321220611310311311092971012271012272274341523215143751419853511313121218331121031271
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Maurice calculated  7    x 3    = 21   Explain why Maurice’s answer would be incorrect.Maurice did not change the mixed numbers to improper fractions first. He multiplied the whole numbers together, then he multiplied the fractions.  This will give an incorrect answer. The correct answer is:     x     =     = 2712353101521852713191
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Multiply 4 x   .What is your answer?4 x     =     x     = 1Try these as well.     3 x     =    x    = 1    6 x     =    x    = 1In each problem the answer is 1.14144114133113166116
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1)   2  ÷     =    x    =  12    2) 7  ÷      =     x      =   35   3)4 ÷    =     x   =  32   4)9 ÷    =   x      =  18  5)   11 ÷     =      x       = 331815121316417191111218151213161In
v
e
s
t
ig
a
t
i
v
e T
a
sk 
Tia worked 12 ÷   . This was Tia’s working:    x     =     = 4Explain why Tia’s working is incorrect. Tia changed the division sign to multiplication, but she did not change     to its reciprocal 3. She should have written      x      which would give the correct answer of 12 x 3 = 36         13121131231213113
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If the reciprocal of     is 4, what is the reciprocal of   ?Did you notice a pattern with other reciprocals that will help you solve this? The reciprocal of     is   . You can multiply to verify that your answer is correct. Remember, when you multiply a number by its reciprocal the product (answer) is 1.      x     =     x    = 1            OR      x     = =     = 1  24422442111124428814241111
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1)  A baker has 6 cups of sugar.  She has to use     cup for each batch of cookies.      How many batches will she be able to make?    Answer: 6 ÷    =    x    =    = 8 batches2)  Tyson eats    cup of cereal every morning.  The cereal box has 10 cups.     How many days will Tyson’s box of cereal last?    Answer: 10 ÷    =     x    =     = 25 days 3)  Eric decorated his front yard for a birthday party.  He used party lights placed    m apart.     The length of string he used was 12m long.  How many light bulbs did Eric use on the string?    Answer: 12 ÷    =    x    =     = 18 light bulbs2334342321614381252510152251121321815161
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4)  Navin has 14m of wire.  He cut the wire into smaller lengths of    m.      How many pieces of wire will Navin get?    Answer: 14 ÷     =     x     =     = 20 pieces of wire5)  Mrs. Browne has 25 cups of ice-cream to serve some persons.  Each person has to get    cup     of ice cream.  How many persons will Mrs. Browne be able to serve with the 25 cups of ice-cream?    Answer: 25 ÷    =     x    =     = =  40 persons2158582518540151710141107710201
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1)      ÷  4 =     x     =     =     (reduce to lowest terms)    2)   ÷ 2 =    x    =      3)÷ 3 =     x     =    4)÷2 =      x      =        =         (reduce to lowest terms)5)      ÷  6 =      x        =     =      (reduce to lowest terms)You can also use diagrams to solve the problems.1315231615274923161212161421216110118274921417454227
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Leo solved     ÷ 3.  This is his model that he drew. He stated that his answer is   . Leo’s answer was incorrect.  What did he do incorrectly?Leo’s drawing is correct.  He forgot that each of the 4 quarters is cut into 3 parts. Therefore, there is a total of 12 equal parts in the whole. Each part is named    . 1413112
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Try these problems. 1)   Mr. Roberts has   kg of bird seed left.  He wants to divide it into   kg portions for the      bird feeders.  How many portions will Mr. Roberts be able to make?     Answer: Mr. Roberts was able to make 3 portions2)  Dana has    litre of pizza sauce.  Her pizza recipe uses    litre of pizza sauce on each pizza.     How many pizzas will Dana be able to make?    Answer: Dana will be able to make 2 pizzas 3)  Mr. Fin has   kg of clay for his class to make clay pots.  He grouped his students.  He has     to give each group of students   kg of clay.  How many groups did Mr. Fin make?     Answer: Mr. Fin made 2 groups of students451216÷     =     x     = 316121261÷     =     x     = 21613÷     =     x     = 225455212131613613125451121
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4)  Trent has     litre of juice.  He wants to divide it into     litre portions.  How many portions     will Trent be able to get?    Answer: Trent will get 4 portions   15810÷     =     x     = 415511810810214In
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Ben solved    ÷    =. This is Ben’s working.     x    = Explain why Ben’s working is incorrect.Dividing     by    will not give the same answer as multiplying    by   . Ben has to multiply    by the reciprocal of   . The reciprocal of    is   . Therefore,     x    =     = 1  .13131513151151513151315155113515323
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OEBPS/js/page08_canvas.js
var canvas, ctx, flag = false,

prevX = 0,

currX = 0,

prevY = 0,

currY = 0,

dot_flag = false;

var count=0;



var x = "black",

//var x = "#FFFFFF",

y = 2;



function init() {

    setTimeout(function () 

    {

       

	    var mouseIsDown=0;

    canvas = document.getElementById('can');

    ctx = canvas.getContext("2d");

    w = canvas.width;

    h = canvas.height;



    canvas.addEventListener("mousedown", mouseDown, false);

    canvas.addEventListener("mousemove", mouseXY, false);

    canvas.addEventListener("mouseup", mouseUp, false);

    canvas.addEventListener("touchstart", touchDown, false);

    canvas.addEventListener("touchmove", touchXY, true);

    canvas.addEventListener("touchend", touchUp, false);

	}, 100);

}



function mouseUp(e) {

    e.stopPropagation();

    mouseIsDown = 0;

    mousefindxy('up', e);

}



function mouseDown(e) {

    e.stopPropagation();

    mouseIsDown = 1;



    mousefindxy('down', e);

    //document.getElementById('cake1').style.display="block";

}



function mouseXY(e) {

    e.stopPropagation();

    if (!e)

        var e = event;

    canX = e.pageX - canvas.offsetLeft;

    canY = e.pageY - canvas.offsetTop;

    mousefindxy('move', e);

}



function touchUp(e) {

    e.stopPropagation();

    if (!e)

        var e = window.event || e; 

    mouseIsDown = 0;

    findxy('up', e);

}



function touchDown(e)

{

    e.stopPropagation();

    if (!e)

        var e = window.event;

    e.preventDefault();

    mouseIsDown = 1;

    findxy('down', e);

    count++;

    if (count>5)

    {

        document.getElementById('can').style.display="none";

   //document.getElementById('cake1').style.display="block";

    }

}

function touchXY(e) {

    e.stopPropagation();

    if (!e)

        var e = window.event || e; 

    e.preventDefault();

    findxy('move', e);

}







function showPos() {

    ctx.font = "24pt Helvetica";

    ctx.textAlign = "center";

    ctx.textBaseline = "middle";

    ctx.fillStyle = "rgb(64,255,64)";

    var str = canX + ", " + canY;

    if (mouseIsDown)

        str += " down";

    if (!mouseIsDown)

        str += " up";

    ctx.clearRect(0, 0, canvas.width, canvas.height);

            // draw text at center, max length to fit on canvas

    ctx.fillText(str, canvas.width / 2, canvas.height / 2, canvas.width - 10);

            // plot cursor

    ctx.fillStyle = "white";

    ctx.fillRect(canX -5, canY -5, 10, 10);

}









function color(obj) {

    switch (obj.id) {

        case "lightviolet":

            x="#690468";

            break;

        case "darkblue":

            x="#0000FF";

            break;

        case "darkpink":

            x="#FF33FE";

            break;

        case "lightblue":

            x = "#3FDBC5";

            break;

        case "lightgreen":

            x = "#008000";

            break;

        case "lightred":

            x = "#FF0000";

            break;

        case "lightyellow":

            x = "#FFFF00";

            break;

        case "lightorange":

            x = "#FFA500";

            break;

		case "orange":

            x = "#FFA500";

            break;

        case "lightblack":

            x = "#070707";

            break;

        case "lightpink":

            x = "#FFC0CB";

            break;

        case "lightbrown":

            x = "#964B00";

            break;

        case "lightpurple":

            x = "#800080";

            break;

		case "purple":

            x = "#6f2DA8";

            break;

        case "pink":

            x = "white";

            break;

        case "gray":

			x="#808080";

			break;

		case "maroon":

			x="#800000";

			break;

		case "green":

			x="#00FF00";

			break;

		case "blue":

			x="#00FFFF";

			break;

		case "red":

			x="red";

			break;

		case "yellow":

			x="yellow";

			break;

		case "brown":

			x="#964B00";

			break;

		case "darkbrown":

			x="#65350F";

			break;

		case "black":

			x="black";

			break;



		case "white":

            x = "white";

            break;

		case "black1":

			x="black";

			break;



		case "white1":

            x = "white";

            break;



    }

 //alert(x);

 /*if (x == "white") 

 y = 14;

 else y = 2;

 */

}

function penthick(thick)

{

//    y=thick;

y=2

}



function draw() {

	//alert(x);

    if (x=="white")

    {

        ctx.clearRect(prevX,prevY,25,25);

    }

    else

    {

     //   ctx.clearRect(prevX,prevY,25,25);



    ctx.beginPath();

    ctx.moveTo(prevX, prevY);

    ctx.lineTo(currX, currY);

    ctx.strokeStyle = x;

    ctx.lineWidth = y;

    ctx.stroke();

    ctx.closePath();

    }

}



function erase() {

    var m = confirm("Want to clear");

    if (m) {

        ctx.clearRect(0, 0, w, h);

        document.getElementById("canvasimg").style.display = "none";

    }

}



function save() {

    document.getElementById("canvasimg").style.border = "2px solid";

    var dataURL = canvas.toDataURL();

    document.getElementById("canvasimg").src = dataURL;

    document.getElementById("canvasimg").style.display = "inline";

}



function mousefindxy(res, e) {

    e.stopPropagation();

    if (res == 'down') {

        prevX = currX;

        prevY = currY;

        currX = e.pageX - canvas.offsetLeft;

        currY = e.pageY - canvas.offsetTop;

        flag = true;

        dot_flag = true;

        if (dot_flag) {

            ctx.beginPath();

            ctx.fillStyle = x;

            ctx.fillRect(currX, currY, 2, 2);

            ctx.closePath();

            dot_flag = false;

        }

    }

    if (res == 'up' || res == "out") {

        flag = false;

    }

    if (res == 'move') {



        if (flag) {

            prevX = currX;

            prevY = currY;

            currX = e.pageX - canvas.offsetLeft;

            currY = e.pageY - canvas.offsetTop;

            draw();

        }

    }

}





function findxy(res, e) {

    e.stopPropagation();

    if (res == 'down') {

        prevX = currX;

        prevY = currY;

        currX = e.targetTouches[0].pageX - canvas.offsetLeft;

        currY = e.targetTouches[0].pageY - canvas.offsetTop;

        flag = true;

        dot_flag = true;

        if (dot_flag) {

            ctx.beginPath();

            ctx.fillStyle = x;

            ctx.fillRect(currX, currY, 2, 2);

            ctx.closePath();

            dot_flag = false;

        }

    }

    if (res == 'up' || res == "out") {

        flag = false;

    }

    if (res == 'move') {



        if (flag) {

            prevX = currX;

            prevY = currY;

            currX = e.targetTouches[0].pageX - canvas.offsetLeft;

            currY = e.targetTouches[0].pageY - canvas.offsetTop;

            draw();

        }

    }

}

function clearpage()

{

    var canvas = document.getElementById('can');

    var ctx = canvas.getContext("2d");

    ctx.clearRect(0, 0, canvas.width, canvas.height);



}



function mycolor(color)

{

    x="#E75480";

}



function showColor()

{

    document.getElementById("colorbox").style.display="block";

}
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var myanswers=['','5','5'];

function validate(mytext,myid)

{

	var currtext=mytext.toLowerCase();

	console.log(myid);

	document.getElementById('pg18audio01').pause();

	document.getElementById('pg18audio02').pause();

	document.getElementById('pg18audio01').currentTime=0;

	document.getElementById('pg18audio02').currentTime=0;



	if (myid=="pg18tb1")

	{

		if (currtext =="x")

		{

			document.getElementById(myid).style.border = "0.1em solid red";

			document.getElementById(myid).style.color = "red";

			document.getElementById('correctans1').style.display="block";

			document.getElementById('wrongans1').style.display="none";

			document.getElementById('pg18audio01').play();

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid black";

			document.getElementById(myid).style.color = "black";

			document.getElementById('pg18audio02').play();

			document.getElementById('correctans1').style.display="none";

			document.getElementById('wrongans1').style.display="block";

		

		}

	}

	else if (myid=="pg18tb2")

	{

		if (currtext =="2")

		{

			document.getElementById(myid).style.border = "0.1em solid #9dce9d";

			document.getElementById('pg18audio01').play();

			document.getElementById('correctans2').style.display="block";

			document.getElementById('wrongans2').style.display="none";

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid #ff6363";

			document.getElementById('pg18audio02').play();

			document.getElementById('correctans2').style.display="none";

			document.getElementById('wrongans2').style.display="block";

		}

	}

	else if (myid=="pg18tb3")

	{

		if (currtext =="3")

		{

			document.getElementById(myid).style.border = "0.1em solid #9dce9d";

			document.getElementById('pg18audio01').play();

			document.getElementById('correctans3').style.display="block";

			document.getElementById('wrongans3').style.display="none";

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid #ff6363";

			document.getElementById('pg18audio02').play();

			document.getElementById('correctans3').style.display="none";

			document.getElementById('wrongans3').style.display="block";

		}

	}

	else if (myid=="pg18tb4")

	{

		if (currtext =="3/4")

		{

			document.getElementById(myid).style.border = "0.1em solid #9dce9d";

			document.getElementById('pg18audio01').play();

			document.getElementById('correctans4').style.display="block";

			document.getElementById('wrongans4').style.display="none";

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid #ff6363";

			document.getElementById('pg18audio02').play();

			document.getElementById('correctans4').style.display="none";

			document.getElementById('wrongans4').style.display="block";

		}

	}

	

}
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var myanswers=['','5','5'];

function validate(mytext,myid)

{

	var currtext=mytext.toLowerCase();

	console.log(myid);

	document.getElementById('pg19audio01').pause();

	document.getElementById('pg19audio02').pause();

	document.getElementById('pg19audio01').currentTime=0;

	document.getElementById('pg19audio02').currentTime=0;



	if (myid=="pg19tb1")

	{

		if (currtext =="x")

		{

			document.getElementById(myid).style.border = "0.1em solid red";

			document.getElementById(myid).style.color = "red";

			document.getElementById('correctans1').style.display="block";

			document.getElementById('wrongans1').style.display="none";

			document.getElementById('pg19audio01').play();

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid black";

			document.getElementById(myid).style.color = "black";

			document.getElementById('pg19audio02').play();

			document.getElementById('correctans1').style.display="none";

			document.getElementById('wrongans1').style.display="block";

		

		}

	}

	else if (myid=="pg19tb2")

	{

		if (currtext =="2")

		{

			document.getElementById(myid).style.border = "0.1em solid #9dce9d";

			document.getElementById('pg19audio01').play();

			document.getElementById('correctans2').style.display="block";

			document.getElementById('wrongans2').style.display="none";

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid #ff6363";

			document.getElementById('pg19audio02').play();

			document.getElementById('correctans2').style.display="none";

			document.getElementById('wrongans2').style.display="block";

		}

	}

	else if (myid=="pg19tb3")

	{

		if (currtext =="3")

		{

			document.getElementById(myid).style.border = "0.1em solid #9dce9d";

			document.getElementById('pg19audio01').play();

			document.getElementById('correctans3').style.display="block";

			document.getElementById('wrongans3').style.display="none";

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid #ff6363";

			document.getElementById('pg19audio02').play();

			document.getElementById('correctans3').style.display="none";

			document.getElementById('wrongans3').style.display="block";

		}

	}

	else if (myid=="pg19tb4")

	{

		if (currtext =="3/4")

		{

			document.getElementById(myid).style.border = "0.1em solid #9dce9d";

			document.getElementById('pg19audio01').play();

			document.getElementById('correctans4').style.display="block";

			document.getElementById('wrongans4').style.display="none";

		}

		else

		{

			document.getElementById(myid).style.border = "0.1em solid #ff6363";

			document.getElementById('pg19audio02').play();

			document.getElementById('correctans4').style.display="none";

			document.getElementById('wrongans4').style.display="block";

		}

	}

	

}
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var mycurraudio="audio1";

function playaudio()

{

    document.getElementById('stop').style.display="none";

	document.getElementById('play').style.display="block";

	document.getElementById("pg35audio01").pause();

	document.getElementById("pg35audio01").currentTime=0;

	document.getElementById("pg35audio01").play();

	mycurraudio="audio1";

	document.getElementById("pg35audio01").addEventListener('ended', function() {

		document.getElementById('stop').style.display="block";

		document.getElementById('play').style.display="none";

	},false);

}





function stopaudio()

{

	document.getElementById('stop').style.display="block";

	document.getElementById('play').style.display="none";

	document.getElementById('pg35audio01').pause();

	document.getElementById("pg35audio01").currentTime=0;

}
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